
Name _____________________  Date _________________________ 

Tons of Free Math Worksheets at: © www.mathworksheetsland.com 

Application of the Standard Law of Sines - Step-by-Step Lesson   

 

In ∆ABC, side a = 5, m<A = 70º and m<C = 48º.   

Find side c to the nearest tenth of an integer. 

 

 

 

 

 

   

 
 

Explanation: 

Step 1) We should know what we have to be find out.  

“Find side ‘c’ to the nearest tenth of an integer.” 

Step 2)   
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     ܿ ൈ	sin 70° ൌ 5 ൈ	sin 48° 

     c ൈ 	0.9397	 ൌ 5 ൈ 	0.7431 

     c ൌ
ହൈ	଴.଻ସଷଵ

଴.ଽଷଽ଻
 

     c ൌ 3.95 

So, the answer is 3.95 

 


